RiEMS REMSERERER (TERE

SH4E2A18~28288
B 4 Gy/h= 1 Sv/h(R1909° LA /BB =4 900—~ 1L b/ B RE)

AN - Jural TAN
spEn SREUT | g, | SRER | 2Eam | spns | TS
i a5t 5 Iféfiiﬁﬁ BIREKE | NEFEKS T K%t ;I)E’AEQE Fﬁf’il‘ﬁ_ HEE% ENE BEE BEIAERE
RERB | BERZ [ 7 T t&EwEm | wos— ErEiy R
SEENT | SFBNT | KFEBRT | SFRENT | SFRENTH | KFEFRT | SFEERT | SFENT | SFENRH EZAT
BEEE—EEMIMD [rii] [1if] [rii] [rii] [rii] [rii] [rii] [1if] [rii] [icp| i)
AR UEER $998km #995km $992km $9101km #996km #9102km $989km $997km $997km $9105km
2}(1)5 158% 0.03 0.03 0.03 0.04 0.04 0.04 0.02 0.03 0.07 0.03
2H28 0.04 0.04 0.02 0,03 0,07 0.03
o 1585 003 0,03 003 0.04 . . . . . .
2838
o 158% 0.03 0.03 0.03 0.04 0.05 0.04 0.02 0.03 0.05 0.03
2);1@4)5 1585 003 0.02 0.02 0.04 0.04 0.04 0.02 0.03 0,07 0.03
2850
) 158% 003 0.03 0.02 0.04 0.04 0.04 0.02 0.03 0.06 0.03
2H6H 0.02 0.03 00 0,03
o) 1585 003 0.02 0.02 0.04 0.04 0.04 . . 07 .
2}3% )E' 158% 0.03 0.02 - 0.03 0.03 0.04 0.01 0.03 0.07 0.03
2H8H 0.02 0.03 00 0.03
oo 1585 003 0,03 003 0.04 0.04 0.04 . . 07 .
2F98 06 0.03
o 158% 0.03 0.02 0.03 0.04 0.04 0.04 0,01 0.03 0. .
2’?7"(0)5 1585 003 0,03 003 0.04 0.04 0.04 0.02 0.03 0,07 0.03
2’?%1)5 158% 0.03 0.03 0.03 0.04 0.04 0.04 0.02 0.03 0.06 0.03
2’?:}:2)5 1585 003 0,03 003 0.04 0.04 0.04 0.02 0,03 0.06 0.03
2’?;;5 158% 003 0.03 0.03 0.04 0.04 0.04 0,01 0.03 0.06 0.03
2’? }%4)5 1585 003 0,03 003 0.04 0.04 0.04 0.02 0.03 - 0.03
2’? BE' 1585 0.03 0.03 0.03 0.04 0.04 0.04 0.02 0.03 0.06 0.03
2%}35 1585 0.04 0,03 003 0.05 0.04 0.05 0.02 0.03 0.06 0.05
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B 4 Gy/h= 1 Sv/h(R1909° LA /BB =4 900—~ 1L b/ B RE)
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| == == % ‘ﬂiiﬁﬁ' I@.IRI%7ki;ﬂ_ /\@F/%7Kiﬁ -F7K/$1|: ﬁﬁﬁ&ﬁﬁ Fﬁ1¥Fﬁ §§$$/§ JEEJJA ~EEFH]T ﬂa J-”” A
BEAB | e Tig t&EwEm | wos— ErEis i
SIREWT | SIFENT | RFEWRT | IEENT | ZFERT | KFELT | SEENRT | KFENLT | SIFERT | EZAT
RBEE—RHEIOD [ii] [ii] [ii] [ii] [ii] [ii] [ii] [i] [ii] izl i
AR EUIER $998km #995km $992km #9101km $#996km $#9102km $989km $#997km #397km $39105km
2’?7}(7) Bl ysms 0.04 0.04 0.03 0.05 0.05 0.06 0.02 0.04 0.07 0.04
2’? és) S T 0.03 0.03 0.02 0.04 0.04 0.04 0.02 0.03 0.06 0.03
2’?;:9) Bl s 0.03 0.03 0.03 0.04 0.04 0.05 0.01 0.03 0.06 0.03
2’?;8 Sl T 0.04 0.04 0.03 0.04 0.05 0.05 0.03 0.03 0.07 0.03
2’? J§l1) Bl ises 0.03 0.03 0.02 0.04 0.04 0.04 0.01 0.03 0.07 0.03
2’? JZLZ) Sl T 0.03 0.03 0.02 0.04 0.04 0.05 0.02 0.03 0.06 0.03
2’? 713) Bl ises 0.03 0.03 0.02 0.04 0.04 0.05 0.02 0.03 0.07 0.03
2’? i“) Bl ioes 0.03 - 0.02 0.04 0.04 0.04 - 0.03 0.06 0.03
2’? g Bl ism 0.03 - 0.02 0.04 0.04 0.04 0.02 0.03 0.05 0.03
2’? :2ts) Bl 1o 0.03 - 0.02 0.04 0.04 0.05 0.02 0.03 0.06 0.03
2’?;7) Bl ism 0.04 - 0.03 0.04 0.06 0.05 0.02 0.03 0.06 0.04
2’? ﬁﬁ Bl 1o 0.03 - 0.02 0.04 0.04 0.05 0.02 0.03 0.07 0.03
X REENHRAEFEE_FS (REEZNT) SH4FE2A1BICHEBEZBEL. ST4E2A8AICAEHSAEHEERELE LT,

(IB : KFHWHRA)
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B 4 Gy/h= 1 Sv/h(R1909° LA /BB =4 900—~ 1L b/ B RE)

s || KER | shsub | omEnm | ol | NEE | mme | ESs | REREE
BEAE | AEmg | XROL WEXmF | #btrs—| SUFEHR | REXFT BINE A &5 BRFE |®EEVS—
E%AT E%AH E%AT E%AM E%AT EZAM E%AT AL R+ g R4 B EA
REE—REHEM,OD [iié] [iic] [iic} [iié] i | i) [icE | i} il | i) il | i} [icE | i} iR | i}
H R U B $998km | #9102km | #5107km | #5117km | #9107km | #115km | #101km |  #399km #387km #591km
2}(1)5 1585 0.03 0.03 0.03 0.02 0.02 0.03 - 0.03 0.02 0.02
2)(517}?)5 1568 0.03 0.04 0.04 0.02 0.03 0.03 - 0.03 0.02 0.02
2@2)5 1585 0.03 0.03 0.03 0.02 0.02 0.03 - 0.03 0.02 0.02
2)(52)5 156% 0.03 0.03 0.03 0.01 0.02 0.03 - 0.03 0.02 0.02
2}? jg)E' 1585 0.03 0.03 0.03 0.02 0.02 0.03 - 0.02 0.02 0.02
Z?E?)E’ 156% 0.03 0.03 0.03 0.02 0.02 0.03 - 0.02 0.02 0.02
2’3% )E' 1585 0.03 0.03 0.02 0.01 0.02 0.03 - 0.02 0.02 0.02
2)(5193)5 156% 0.03 0.03 0.03 0.01 0.02 0.03 - 0.02 0.02 -
2)(%713)5 1585 0.03 0.03 0.03 0.01 0.02 0.03 - 0.02 0.02 -
2’?;'8 SR T 0.03 0.03 0.03 - 0.02 0.03 - 0.03 0.02 0.02
2’?%‘) Bl ioeg 0.03 0.03 0.03 - 0.02 0.03 - 0.02 0.02 0.02
2’?:}:2) SR T 0.03 0.03 0.03 - 0.02 0.03 - 0.02 0.02 0.02
2’?&3 Bl ioeg 0.03 0.03 0.03 - 0.02 0.03 - 0.03 0.02 0.02
2’? }%4) Bl ysms 0.03 0.03 0.03 - 0.02 0.03 - 0.03 0.02 0.02
2’? B B ioeg 0.03 0.03 0.03 0.01 0.02 0.03 - 0.03 0.02 0.02
2%}8 SR T 0.04 0.05 0.04 0.03 0.04 0.04 - 0.04 0.03 0.03
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B B\ | KERX ShBL | BRI || oo fj\\gg IR REH | BRRLEE
AEAB | AEs | XROB WBeEXm | Fietrs—| SUREM | REeXAE BINE A &5 BRFE |®ELVS—
E&AT EZAM E&AT EZAM E&AT E%AH E&AT L& R+t LB R F LIBRAS
ERE—EENL0
BEE—RREMEC [ii] [ii] [i] [ii] [iiip it} izl i [P it} [iicp i} i\ i} [iicp i)
AR EUIER $998km #9102km $9107km #9117km #3107km #9115km $9101km $#999km $987km $#991km
2’?;'(7) Bl ysms 0.03 0.04 0.03 0.02 0.02 0.03 - 0.03 0.02 -
2’? DB e 0.03 0.03 0.03 001 0.02 0.03 - 0.03 0.02 -
2’?;:9) Bl 15w 003 003 003 001 002 003 - 003 002 -
2RO 15 003 005 003 001 002 003 - 003 002 -
2REVE 1o 003 003 003 001 002 003 - 003 002 002
2’? iz) Bl q5es 0.03 0.03 0.03 0.02 0.02 0.03 - 0.03 0.02 0.02
2RISE | 15w 003 003 003 001 002 003 - 002 002 002
2’? i“) B sps - 0.03 0.03 0.01 0.02 0.03 - 0.03 0.02 0.02
PREE 1o 003 003 003 001 002 003 - 003 002 002
2’? :2ts) B ysps 0.03 0.03 0.03 0.01 0.02 0.03 - 0.03 0.02 0.02
2RETEL 15 003 004 003 001 003 003 - 003 002 003
2’? ﬁﬁ B ysps 0.03 0.04 0.03 0.01 0.02 0.03 - 0.03 0.02 0.02
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B 4 Gy/h= 1 Sv/h(R1909° LA /BB =4 900—~ 1L b/ B RE)

EEAN | raen || ommem | .. | BEEE | mRes o | EEE | EmR
AR | MEEn | mt iy | BRERS | g | RRERS AR | A BIEERAT | mrmig | i
8%
FSEET | FEREAT A2 HHET BWEAE | BEAE | HEEARE | SRR | BEARE | BEERE | EEAR
BEE—REND [ii] [i] [i] [ [i] [ il i [ [i] i A
7516 B U B #3123km #3123km #393km #382km #987km #984km #374km #978km #977km #979km
2)(1)5 158 0.03 0.03 0.02 0.02 0.02 0.03 0.02 0.02 0.02 0.02
2’:'7 }f)E’ 158F 0.04 0.03 0.02 0.02 0.02 0.02 - 0.02 0.02 0.02
2}(5172)5 156% 0.03 0.03 0.02 0.02 0.02 0.03 - 0.02 0.03 0.02
2’2)5 158F 0.03 0.03 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
2}? jg)E' 150% 0.03 0.03 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
Z?E?)E’ 158F 0.03 0.03 0.02 0.02 0.02 0.02 0.02 0.02 0.02 -
2}3% )E' 1584 - 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
2)(51 E)E’ 158F 0.03 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
2}?7]3)5 158% 0.03 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
2%}8 H 158F 0.03 0.03 0.02 0.02 0.02 0.03 0.02 0.02 0.02 0.02
2’? é‘) H 158% 0.03 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
2’5&2) H 158 0.03 0.03 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
2’?;; H 158% 0.03 0.03 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
2’? }%4) H 158F 0.03 0.03 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
2’? B H 158% 0.03 0.03 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
2%}3 H 158 0.05 0.04 0.03 0.02 0.03 0.03 0.03 0.02 0.03 0.03
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B 4 Gy/h= 1 Sv/h(R1909° LA /BB =4 900—~ 1L b/ B RE)
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i RET | gerappie | BERET | e Bage | wres I IBHR

mEAn | mEEa | nhe &5 2 &5 BKIE | aEt s = BEiR | NEEEN
axX

L) P HT AR hHT R EEKET R EEET R R R
BEE—REND i [i] [i] [ [i] [ il i [ [i] i A
AR EUIER $9123km #9123km $993km #982km $987km $984km $974km $#978km #977km $#979%km
2’?7}(7) Bl 15w 0.03 0.04 0.02 0.02 0.03 0.03 0.02 0.02 0.03 0.02
2’? o B 5w 0.03 0.02 0.02 0.02 0.02 0.02 0.03 0.02 0.02 0.02
2’?;:9) Bl 15w 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
2’?;8 B ysps 0.03 0.03 0.02 0.02 0.02 0.03 - 0.02 0.03 0.02
2’? J§l1) Bl roes 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
2’? b B ism 0.03 0.03 0.02 0.03 0.02 0.02 0.02 0.02 0.03 0.02
2’? 713) Bl roes 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
PR 15w 002 002 002 002 - 002 002 - 0.02 002
2’? g B roes 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
2’5(1 :2ts) Bl 1o - 0.03 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
2?;7) Bl ism - 0.03 0.02 0.02 0.02 0.03 0.03 0.02 0.03 0.03
2’5(1 éﬁ Bl 1o - 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
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B 4 Gy/h= 1 Sv/h(R1909° LA /BB =4 900—~ 1L b/ B RE)

. . rene | By | RIEET SRR | o8 DEEe | msin | mpsan | sams | cEke
BMEAR | Awez | KSR B | wEeos— | PRARE TR | SRR
FEEHT HEHEAHE | KFRTHE | KIFIRTHE HIF HN;EHET HNEET =58 =yt & ILHET
REE—REHEM,OD iR | i} il | i} [iic} [iié] [iié] [iic] [iié] [ii¢] [iic} [iic]
H R U B #979m #981km $9100km | #5108km | #3102km | #118km | #i16km | #9124km | #35122km | #3142km
2}(1)5 1568 0.02 0.02 - 0.03 0.03 0.02 0.02 001 0.04 0.02
2)(517}?)5 1585 0.02 0.02 0.02 0.04 0.03 0.02 - 0.02 0.04 0.02
2@2)5 1585 0.02 0.02 0.02 0.03 0.03 0.02 - 0.02 0.04 0.02
zflé)a 1565 0.02 0.02 0.02 0.03 0.03 0.02 0.02 001 0.04 0.02
2}? jg)E' 1585 0.02 0.02 0.02 0.03 0.03 0.02 - 0.02 0.04 0.02
Z?E?)E’ 1565 0.02 0.02 0.02 0.03 0.03 0.02 - 0.02 0.04 0.02
2}3% )E' 1585 0.02 0.02 0.1 0.03 0.03 0.02 - - 0.04 001
2)(5193)5 156% 0.02 0.02 0.01 0.03 0.03 - - 0.01 0.04 0.01
2}?7]3)5 1585 0.02 0.02 0.02 0.03 0.03 0.02 - 0.02 0.04 001
2’?;'8 SR T 0.02 0.02 0.02 0.03 0.03 0.02 - 0.02 0.04 0.02
2’?% Bl ioeg 0.02 0.02 0.1 0.03 0.03 0.02 - 0.02 0.04 -
2’?:}:2) SR T 0.02 0.02 0.02 0.03 0.03 0.02 - 0.02 0.04 -
2’?&3 Bl ioeg 0.02 0.02 0.02 0.03 0.03 0.02 0.02 0.02 0.04 -
2’? }%4) Bl ysms 0.02 0.02 0.02 0.03 0.03 0.02 0.02 0.02 0.04 0.02
2’? B B ioeg 0.02 0.02 0.02 0.03 0.03 0.02 0.02 0.02 0.04 0.02
2%}8 SR T 0.03 0.02 0.02 0.05 0.04 0.03 0.02 0.02 0.05 0.02
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B 4 Gy/h= 1 Sv/h(R1909° LA /BB =4 900—~ 1L b/ B RE)
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3 LIFIRTHET | & HEETEMR =g
e e | s | BAT | gbms | SERTN | sinws | pmm | @EAUKH | MAKRR | SBETEE | KEKER
RIEAB | BIERZ = = HELLE— FILERAT | EEER
R HEAET | SFIRTHE | SIERTHE EZ kD) Wi ET P=) = BT = BHT = 1LIET
BEE—RENMD i\ i} [iicp i} [ii] [i] [ii] [i] [ii] [i] [ii] [i]
%18 R U B R £79km #81km | #9109km | #108km | #102km | #t1skm | #116km | #9124km | #9122km | #9142km
2’?;'(7) Bl qses 0.02 0.02 0.02 0.05 0.04 - - 0.02 0.06 0.02
PRI o 002 002 002 003 003 002 002 002 004 001
PRI 1sm 002 002 002 003 003 002 002 001 0.04 001
2RO 15 002 002 002 003 004 002 002 002 005 002
2’? é‘) Bl qses 0.02 - 0.01 0.03 0.03 0.02 - 0.01 0.04 0.02
2’? iz) B ysps 0.02 0.02 0.02 0.04 0.03 0.02 - 0.01 0.04 0.02
2RISE | 15w 002 002 002 003 003 002 - 001 0.04 001
2’?%4) Bl q5es 0.02 0.02 0.01 0.03 0.03 0.02 - 0.01 0.03 0.01
2’? DB | 1se 0.02 0.02 - 0.03 0.03 0.02 - 001 0.03 0.01
2’? :2ts) B 5 0.02 0.02 - 0.03 0.03 0.02 0.01 - 0.04 0.02
2’?;7) B ises 0.03 0.03 - 0.04 0.04 0.02 0.02 - 0.05 0.02
2’? ﬁﬁ S T 0.02 0.02 - 0.03 0.03 - 0.02 001 0.04 0.02




REMS REKETRE

AR (RS
N N o
s n | pm | ELEES SUMBR | maHes Kj%zm Ki%i“ SRS | mworm ’;2%2“
£ ILET £ LA RAF04F SEXEET | SFEEEN | SFEXEN | SEXEE | SFEER
BEE—REEILD [ri2] [iic] [ri2) [iic] [ri2] [iic] [ri2] [iic]
HRRUERE #9132km $9130km #9125km $9101km #9105km $9101km #9107km #3106km
ZJ?L)E 158 0.02 0.01 0.02 0.04 0.02 0.03 0.02 0.05
ZEE)EI 158 0.02 0.01 0.02 0.04 0.02 0.03 0.02 0.04
ZEE)E' 1585 0.02 0.01 0.02 0.04 0.03 0.03 0.02 0.05
Z(ﬁé)ﬂ 158 0.02 0.01 0.02 0.04 0.02 0.03 0.02 0.04
ZJ(qj‘z)El 158 0.02 0.01 0.02 0.04 0.03 0.03 0.02 0.05
Z(EEG)E 150% 0.02 0.01 0.02 0.04 0.02 0.03 - _
2)?ﬁ7)E| 158 0.02 0.01 0.02 0.04 0.02 0.03 0.02 0.04
2(ﬁ£)E| 150% - 0.01 0.02 0.04 0.02 0.03 0.02 0.04
ZEE)E 156F - 0.01 0.02 0.04 0.02 0.03 0.02 0.04
ZH(;'(O)E 158% 0.02 0.01 0.02 0.04 0.03 0.03 0.02 0.04
2?%35 158 0.02 0.01 0.02 0.04 0.02 0.03 0.02 0.04
Zﬁ(:}:Z)E 158% 0.02 0.01 - 0.04 0.02 0.03 0.02 0.04
2}5(];3;5 158 0.02 0.01 - 0.04 0.02 0.03 0.02 0.04
2ﬁ()1q4)E| 158% 0.02 0.01 - 0.04 0.02 0.03 0.02 0.05
2}? B Bl ises 0.02 0.01 0.03 0.04 0.02 0.03 0.02 0.05
ZH(JKG)E 158% 0.03 0.02 0.03 0.05 0.03 0.03 0.02 0.05
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B 4 Gy/h= 1 Sv/h(R1909° LA /BB =4 900—~ 1L b/ B RE)
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S LEER SRXEA | ZPKEA | e sRLEar
. N £ ILRT %15 %tﬁ,&% EE b SRt "5 %15 Eﬂzti’}'— Bl REE &z
BIEARB | BIERZ RT= KT & RT&E = HEETE
< |LET % (LT BRFOAT SEXBRT | EXBER | REXER | RIFEXEET | RIFXEAT
BEEE—REILD [iié) ] [tié) ] [iic) ] [iic) ]
#18 R U #132km | #3130km | #5125km | #9101km | #105km | #10Tkm | #3107km | #3106km
2}5('7"(7) B e 0.03 0.02 0.03 0.06 0.05 0.04 0.03 0.06
2)5(' 1@8) Bl o 0.02 0.01 0.02 0.04 0.02 0.03 0.02 0.05
2}5(':}:9) Bl qseg 0.02 0.01 0.02 0.05 0.02 0.03 0.02 0.05
2RI 1o 002 001 002 005 002 003 002 005
2}? g) Bl qseg 0.02 0.01 0.02 0.05 0.02 0.03 0.02 0.05
2)5(1)25 Bl 1ses 0.02 0.01 0.02 0.05 0.03 0.03 0.02 0.05
2}?7?3 Bl qseg 0.02 0.01 0.02 0.05 0.03 0.03 0.02 0.04
2’?%4) B 1585 - 0.01 0.02 0.04 0.02 0.03 0.02 0.04
2?5 R 158 - 0.01 0.02 0.04 0.02 0.03 0.02 0.04
Z?jz:ﬁ) B o - 0.01 0.02 0.05 0.02 0.03 0.02 0.04
2%'7) B | o - 0.01 0.03 0.05 0.03 0.04 0.04 0.05
2)5(1 2 Bl 15w 0.02 - 0.02 0.05 0.02 0.04 0.02 0.05
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